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Name

Score

Ethan weighed 72kg 950g. He gained 4kg 237g in two months. What is 

his weight now?

1)

The weight of vegetable sacks in a container is 5,246 t. 215 t of carrots 

were removed at a station. How many tons of vegetables remain in the 

container? Express the answer in pounds.

2)

John purchased 0.5 troy ounces of gold. Express it in grams.

(1 troy ounce = 31.1 g)

3)

A pack of sugar weighs 2 lb 14 oz. 12 packs of sugar are arranged in a 

carton box. How many pounds does the carton box hold in all? Express 

the answer in pounds.

4)
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Answer key

Ethan weighed 72kg 950g. He gained 4kg 237g in two months. What is 

his weight now?

1)

77 kg 187 g 

The weight of vegetable sacks in a container is 5,246 t. 215 t of carrots 

were removed at a station. How many tons of vegetables remain in the 

container? Express the answer in pounds.

2)

10,062,000 lb

John purchased 0.5 troy ounces of gold. Express it in grams.

(1 troy ounce = 31.1 g)

3)

15.55 g

A pack of sugar weighs 2 lb 14 oz. 12 packs of sugar are arranged in a 

carton box. How many pounds does the carton box hold in all? Express 

the answer in pounds.

4)

34.5 lb


